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brand = 'Apple'
exchangeRate = 1.234234245
message = 'The price of this %s laptop is %d
USD and exchage rate is %4.2f USD to 1 EUR'

% (brand, 1299, exchangeRate)
print (message)

Python 3.4.0: format-string.py - /home/shariatimehr/Desktop/format-string.py

Eile Edit Format Run Options Windows Help

brand = 'Apple
exchangeRate = 1.234234245
message = 'The price of this %s laptop is %d USD and exchage rate is %4.2f USD to 1 EUR' %(brand, 1299, exchangeRate)

print (message)
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File Edit Shell Debug Options Windows Help

Python 3.4.0 (default, Jun 19 2015, 14:20:21) -
[GCC 4.8.2] on linux

Type "copyright", "“credits"™ or "license()" for more information.
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The price of this Apple laptop is 1299 USD and exchage rate 1is 1.
23 USD to 1 EUR
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message = 'The price of this {0:s} laptop 1is
{1:d} USD and the exchange rate is {2:4.2f}
USD to 1 EUR'.format ('Apple', 1299,
1.235235245)
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The price of this Apple laptop 1is 1299 USD
and the exchange rate is 1.24 USD to 1 EUR
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message = 'The price of this {} laptop is {}

USD and the exchange rate is {} USD to 1
EUR'.format ('Apple', 1299, 1.234234245)
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messagel = '{0} is easier than
{1}'.format ('Python', 'Java')
message2 = '{1l} 1s easier than
{0}'.format ('Python', 'Java')
message3 = '{:10.2f} and
{:d}'".format (1.234234234, 12)
messaged = '"{}'.format (1.234234234)

print (messagel)
#You will get 'Python is easier tha Java'

print (message?)
#You will get 'Java is easier Python'

print (message3)
#You will get 1.23 and 12"

#You dont need to indicate the positions of
the parameters.

print (messaged)
#You will get '1.234234234. no formatting is
done.'
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messagel = '{0} is easier than {l}'.format ('Python', 'Java')
message?2 = '{l} is easier than {0}'.format ('Python', 'Java')
message3d = "{:10.2f} and {:d}'.format (1.234234234, 12}|
messaged = '"{}'.format(1.234234234)

print (messagel)
#You will get 'Python is easier tha Java'

print (message2)
#¥You will get 'Java is easier Python'

print (message3)
#¥ou will get ' 1.23 and 12°
#You dont need to indicate the positions of the parameters.

print (messaged)
¥You will get '1.234234234. no formatting is done.'
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File Edit Shell Debug Options Windows Help

Python 3.4.0 (default, Jun 19 2015, 14:20:21) -
[GCC 4.8.2] on linux

Type "copyright", "credits"™ or "license ()" for more information.
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